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2015 =100
% 5 te 2 AERAL | fIERAL | #IAL ATALE
2 (%) FHE (%) FHE
wE 101.7 1.3 0.4
BH 105.5 26 0.69 2.3 0.61
EEE] 103.4 2.3 0.05 1.1 0.02
arsE 108.8 36 0.09 14 0.04
ESEE] 102.7 0.6 0.01 0.1 0.00
ZLON%E 98.2 -24 -0.03 -0.5 -0.01
Fx-EE 120.0 14.1 0.40 10.0 0.29
2 123.7 6.0 0.08 15.3 0.19
SHAE - SRR 104.1 3.0 0.04 0.3 0.00
] 103.6 -0.8 -0.02 0.4 0.01
FER & 100.0 -0.4 -0.01 25 0.07
fRH 99.6 -20 -0.03 -0.6 -0.01
ESE 103.9 38 0.05 0.0 0.00
NE 102.5 1.3 0.06 0.0 0.00
B 99.6 -0.3 -0.05 0.0 0.00
E3-1 99.2 -0.3 -0.05 0.0 0.00
R iEEE - 101.4 -0.1 0.00 0.0 0.00
Je#h-KE 101.1 5.2 0.37 0.2 0.02
;?;i;—?‘nﬁ 100.6 7.1 0.26 0.4 0.02
] A 95.2 45 0.06 -0.1 0.00
oSz 99.8 12.3 0.06 0.0 0.00
L TokEH 107.3 0.0 0.00 0.0 0.00
RE-REAHR 100.4 0.1 0.00 -0.7 -0.03
R BE M AR 104.4 4.7 0.05 -2.4 -0.03
ENE 84.9 -126 -0.02 -1.0 0.00
Eif}g 105.0 3.0 0.01 0.3 0.00
REHE 102.1 0.0 0.00 1.1 0.01
%%ﬁﬁ;ﬁ Fm 95.8 -4.0 -0.04 -0.4 0.00
REY—ER 99.8 0.1 0.00 0.0 0.00
BREVEY 101.7 0.6 0.03 -23 -0.10
~H 101.3 -1.3 -0.03 -3.1 -0.06
%}%"Zﬁ't_g_' TiESE 101.2 8.7 0.09 -3.6 -0.04
% 100.4 -5.9 -0.04 -1.9 -0.01
DR ] 106.0 -0.7 0.00 3.7 0.01
i AR EEEH —E X 104.0 0.0 0.00 0.0 0.00
RERER 101.0 0.4 0.02 -0.6 -0.02
=5 an - fR R AR T AL 98.3 -1.6 -0.02 -15 -0.02
REERAR-FE 96.8 -2.9 -0.03 -0.7 -0.01
FEEET—ER 104.3 3.0 0.06 0.0 0.00
- iE{‘ 98.8 0.6 0.11 -0.2 -0.03
RE 99.0 0.1 0.00 -1.2 -0.01
ELEEL L 100.5 1.7 0.19 0.0 -0.01
BiE 94.9 -1.8 -0.08 -0.3 -0.01
#HE 103.3 15 0.03 0.0 0.00
BRENE 105.2 2.3 0.03 0.0 0.00
HEE-2ESELHM 101.0 0.8 0.00 0.0 0.00
HEHRE 100.0 0.0 0.00 0.0 0.00
BEIRE 101.7 0.8 0.08 -0.8 -0.07
%ggbx == rmmﬂ:r 101.6 0.1 0.00 -04 0.00
5252 FH S 102.1 1.6 0.04 -15 -0.04
E5E- ﬁﬁwﬁnﬂlw 101.3 0.6 0.01 0.1 0.00
BEPESG—ER 101.6 0.6 0.03 -0.6 -0.03
HME 101.7 0.1 0.00 0.2 0.01
HERY—ER 100.6 -0.3 0.00 0.0 0.00
BEXAAR 99.1 -0.1 0.00 05 0.01
SDEYHAR 107.9 -2.1 -0.01 0.5 0.00
=IES 102.8 1.1 0.00 0.0 0.00
M E 102.0 0.6 0.02 0.0 0.00 |
B REkRis 100.8 0.8 0.76 -0.1 -0.13
$EHBARUIRILY—4RR<BEE 100.8 0.2 0.17 -0.2 -0.15
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Mz ! H ! | Mz ! H ! | Mz ! H ! |
?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al ?ﬁ‘ ;& W Al
H (00) H (00) H (00 H (00) H (00 H (00)
SRR 244F 96. 2 0.0 96. 3 0.1 96. 2 0.4
25 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99. 1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 0.1 100. 0 0.0 99.7 -0.3
29/1 100. 0 0.4 0.2 100. 4 0.9 0.2 99.9 0.5 0.0
2 99. 8 0.3 -0.1 100. 2 0.6 —0.2 99.5 0.0 -0.4
3 99.9 0.2 0.1 100. 2 0.6 0.0 99.3 -0.3  -0.1
4 100. 3 0.4 0.4 100. 3 0.4 0.1 99. 7 0.2 0.4
5 100. 4 0.4 0.1 100. 5 0.6 0.2 100. 0 0.2 0.3
6 100. 2 0.4 -0.1 100. 3 0.6 —0.2 99. 8 0.2 -0.2
7 100. 1 0.4 -0.2 100. 3 0.6 0.0 99. 7 0.2 -0.1
8 100. 3 0.7 0.2 100. 7 0.7 0.4 100. 1 0.5 0.4
9 100. 5 0.7 0.2 100. 9 1.0 0.2 100. 1 0.4 0.0
10 100. 6 0.2 0.0 100. 9 0.1 0.0 100. 3 0.2 0.2
11 100. 9 0.6 0.4 101. 2 0.5 0.3 100. 4 0.4 0.2
12 101.2 1.0 0.3 101. 3 0.7 0.1 100. 5 0.6 0.1
30/1 101. 3 1.4 0.1 101. 7 1.3 0.4 100. 8 0.9 0.3
fif] (L il Jin 5 il ] [ il
AAE 1 LR LR
A & %% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
(%) (%) L () (%) L (%) 1 (%)
Rk 244 96.8 -0.2 96.2 -0.3 96.6  —0.2
25 96. 9 0.2 96.1  -0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99. 3 2.7
27 100. 0 0.6 100. 0 1.5 100. 0 0.7
28 99.9  -0.1 100. 0 0.0 100. 0 0.0
29/1 100. 2 1.0 0.0 100. 0 0.3 0.2 100. 2 0.7 0.2
2 100. 2 0.9 0.1 99. 8 0.0 -0.2 99. 7 0.2 0.4
3 100. 1 0.6 -0.1 99.8 0.1 0.0 99.9 0.3 0.2
4 100. 2 0.2 0.0 100. 3 0.2 0.6 100. 3 0.2 0.4
5 100. 5 0.5 0.3 100. 4 0.3 0.1 100. 4 0.2 0.1
6 100. 5 0.6 0.0 100. 3 0.1 -0.2 100. 3 0.2 -0.1
7 100. 2 0.6 -0.3 100. 2 0.5 -0.1 100. 3 0.5 0.0
8 100. 4 0.8 0.2 100. 3 0.6 0.1 100. 7 0.7 0.3
9 100. 7 0.6 0.3 100. 5 0.8 0.2 100. 8 0.4 0.1
10 100. 9 0.4 0.2 100. 6 0.0 0.1 101.0 0.6 0.3
11 100. 9 0.4 0.0 100. 9 0.4 0.3 101. 2 1.0 0.1
12 101.0 0.8 0.0 101.0 0.8 0.2 101.2 1.2 0.0
30/1 101.2 1.0 0.2 101.5 1.5 0.5 101.5 1.3 0.3
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53 & ® ok = & B - ok E FE - FEAS R 2O BY 7’ o’ E B
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GENE: -] ﬁ:(mﬁ):ﬁﬂﬂw bt ﬁ:(lﬁll:f):ﬁﬁﬂbb bt ﬁ:(mﬁ):ﬁﬂﬂw bt ﬁ:(lﬁll:f):ﬁﬁﬂbb Eict ﬁ:(mﬁ):aﬂﬂw bt &:(Iﬁif):aﬁﬂtt B :(T):ﬁuﬂtt
L) (%) L) L (%) L) (%) L) L (%) L) (%) L (%) ! (%) L) (%)
VEZAY 10000 2617 1862 753 374 437 424
244F | 96. 3 0.1 92.2 -0.1 100.3 -0.4 96. 0 4.0 96. 8 0.3 98.9 0.3 98.5 -1.0
254F | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 -2.1 99. 8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274E [100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F [100. 0 0.0 101.8 1.8 99.8 0.2 94.9 -5.1 99.9 0.1 102.7 2.7 100.5 0.5
29/1 [100. 4 0.9 -0.2 [102.9 1.8 0.3199.9 0.1 0.2 (96.1 -0.3 0.3 |100.3 0.2 -1.1 |101.1 1.2 -3.6 [100.5 0.7 -0.2
2 100. 2 0.6 -0.2 |[102.4 0.7 -0.5199.5 -0.2 -0.41096.9 1.2 0.8 198.9 -0.6 -1.3 [101.0 1.3 -0.21100.0 0.3 -0.5
3 100. 2 0.6 0.0 [[102.3 0.7 0.0 199.4 -0.4 -0.11]097.6 2.7 0.7198.0 -1.1 -0.9 [100.4 -1.1 -0.5]100.6 0.5 0.5
4 100. 3 0.4 0.1 [[101.8 0.4 -0.5199.4 -0.4 0.0 [ 98.5 4.1 1.0 {98.0 -3.0 0.0 [103.0 0.0 2.5 1100.4 0.4 -0.1
5 100. 5 0.6 0.2 [[101.8 0.4 0.0 199.4 -0.5 0.0 [99.9 5.0 1.4 [{97.5 -1.3 -0.6 |103.9 1.0 0.9 |100.8 0.3 0.4
6 100. 3 0.6 -0.2 [101.6 0.8 -0.2199.4 -0.4 0.0 [100.3 6.1 0.4 ]98.6 0.5 1.1 [104.0 1.4 0.1 |100.2 -0.6 -0.6
7 100. 3 0.6 0.0 [[101.4 0.5 -0.2199.4 -0.4 0.0 [100.1 6.4 -0.2 |101.5 1.9 3.0 |102.5 1.6 -1.51100.4 -0.7 0.2
8 100. 7 0.7 0.4 [[102.5 0.5 1.1 199.4 -0.4 0.0 [100.2 6.9 0.1 [100.4 0.8 -1.1100.7 -0.2 -1.7 (102.2 1.3 1.8
9 100.9 1.0 0.2 [[103.0 1.4 0.4 199.5 -0.2 0.1 [100.2 7.3 0.1 [100.4 0.2 0.0 [105.3 0.3 4.6 | 102.1 1.9 0.0
10 {100.9 0.1 0.0 [[102.0 -1.5 -0.9 ]99.5 -0.3 0.0 [100.4 5.7 0.2 |100.9 -0.4 0.5 (105.1 -0.1 -0.2 |101.5 0.8 -0.6
11 |101.2 0.5 0.3 [[102.5 -0.6 0.5199.5 -0.2 0.0 [102.3 7.3 1.8 [100.7 0.8 -0.2 |105.6 -0.5 0.4 | 101.7 0.7 0.2
12 |101.3 0.7 0.1 [[103.1 0.5 0.6 199.6 0.0 0.1 [{100.9 5.3 -1.4 |101.1 -0.3 0.4 (104.1 -0.8 -1.4 |101.6 0.8 -0.2
30/1 [101.7 1.3 0.4 [[105.5 2.6 2.3199.6 -0.3 0.0 [101.1 5.2 0.2 [100.4 0.1 -0.7 |101.7 0.6 -2.3|101.0 0.4 -0.6
- M| & W | % % om ok | B & ® |emesrkdea TERRROSAV
LR R LR R LR R
GEYERE &: (FLA) A b ko] ﬁt: (FA) 'AiA koS ﬁ(: (FLA) A b ko] ﬁt: (FA) ARk ¥ ﬁ(: (FLA) A b ko] ﬁt: (FA) 'AiA
Lo Ul Lo Ul Lo Ul
L (%) (%) L (%) (%) L (%) (%) L (%) (%) L (%) (%) L (%) (%)
VEZE 1735 213 906 679 9581 8698
244F | 98. 8 0.4 96. 6 0.4 95.8 -1.2 94.5 -0.1 96. 9 0.2
254F [100. 1 1.4 97.2 0.6 94.8 -1.0 95. 4 1.0 97.2 0.3
264F [102. 7 2.5 98.8 1.7 98.1 3.5 98.8 3.6 99. 4 2.3
27$ 100.0 -2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100.0 0.6 100. 0
284E [ 97.7 -2.3 101. 4 1.4 101. 1 1.1 101. 1 1.1 99.7 -0.3 100. 6 0.6
29/1| 98.2 0.7 -0.5 |101.8 1.4 0.0 [100.9 1.0 -0.7 [101.6 0.9 0.2 [100.0 0.5 -0.3 |100.6 0.3 -0.3
2 98.1 1.1 -0.1 [101.8 1.5 0.0 |101.2 1.4 0.4 [101.0 0.2 -0.6[99.9 0.5 -0.2 |100.3 0.1 -0.3
3 97.7 0.7 -0.4 |101.8 1.5 0.0 |101.7 1.6 0.4 [101.7 1.0 0.7 [100.0 0.6 0.1 [100.4 0.0 0.0
4 98.2 0.6 0.5 [102.3 0.6 0.5 [101.4 0.0 -0.3 |101.9 0.4 0.2 (100.2 0.4 0.2 (100.5 -0.2 0.2
5 98.2 0.6 -0.1]103.3 1.5 0.9 |101.7 0.9 0.3 [101.7 0.5 -0.2 [100.4 0.7 0.2 [100.7 0.2 0.2
6 97.9 -0.5 -0.3 [103.3 1.5 0.0 [100.8 0.3 -0.8 |101.4 0.4 -0.3 [100.4 0.8 0.0 [100.7 0.4 0.0
7 97.8 -0.2 -0.1 [103.3 1.5 0.0 [100.9 0.1 0.1 (101.0 -0.1 0.4 |[100.4 0.8 0.0 [100.8 0.4 0.1
8 97.7 0.0 -0.1]103.3 1.5 0.0 |102.3 0.5 1.4 [101.1 0.1 0.1 [100.4 0.8 0.1 [100.8 0.2 0.0
9 97.7 0.4 -0.1 |103.3 1.5 0.0 [101.4 0.1 -0.9 |100.9 -0.6 -0.2 [100.6 1.1 0.2 [101.0 0.5 0.1
10 | 98.6 0.9 1.0 [103.3 1.5 0.0 |101.9 -0.5 0.5 [101.1 0.0 0.2 [100.8 0.8 0.2 [101.0 0.1 0.1
11 98.7 0.4 0.0 [103.3 1.5 0.0 [102.3 0.1 0.4 [101.2 0.2 0.1 [101.0 0.8 0.2 [101.0 0.0 0.0
12 199.0 0.3 0.4 [103.3 1.5 0.0 |102.5 0.9 0.2 [101.6 0.1 0.4 [101.0 0.7 -0.1 |101.0 0.1 0.0
30/1(98.8 0.6 -0.2 |103.3 1.5 0.0 [101.7 0.8 -0.8 |101.7 0.1 0.2 [100.8 0.8 —0.1 |100.8 0.2 -0.2
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29/1 |100.4 1029 1101.1 !105.0 '102.1 1100.6 1105.2 !116.8 !101.1 '104.4 1100.4 '101.7 1100.1 '101.2 | 99.9 ! 99.5 :101.5 ! 96.1
2 [100.2 |102.4 5102.1 5104.3 5103.5 99.5 5104.8 5112.1 5102.1 5101.9 99.0 5102.0 99.8 5101.2 99.5 99. 1 5101.3 96.9
3 [100.2 [102.3 1102.2 1105.0 1104.7 1 99.1 1100.9 1112.8 1101.4 1104.3 1 99.1 1101.7 1100.0 :101.2 | 99.4 : 99.1 1100.7 i 97.6
4 [100.3 |101.8 1100.3 1106.4 1107.8 1100.1 } 99.6 1103.3 1101.8 1103.1 ! 97.4 1101.5 1100.0 $101.2 | 99.4 ! 99.1 !100.9 | 98.5
5 [100.5 |101.8 2102.7 5103.8 2106.7 98.3 99.0 5106.7 2100.5 5103.8 98.6 5101.7 2100.0 5101.1 99. 4 99. 1 5100.9 99.9
6 [100.3 |101.6 1100.7 1104.9 1109.3 ' 98.4 1 96.4 1102.2 1100.3 1102.7 ! 98.2 1100.9 1102.6 1102.1 [ 99.4 : 99.1 1100.9 | 100.3
7 |100.3 |101.4 5100.3 5105.0 5106.3 97.8 94.9 5100.6 5102 6 5103.6 99.5 5100.4 5103.5 5102.1 99. 4 99. 1 5100 9 100. 1
8 [100.7 |102.5 1101.4 1106.1 1106.7  97.9 1 98.4 1116.7 1102.1 1103.6  99.4 1 99.4 1102.1 1102.1 | 99.4 © 99.1 1100.9 ! 100.2
9 [100.9 [103.0 1103.0 1110.2 1102.8 | 97.8 1104.5 1102.3 1103.3 1103.4 1100.2 | 99.9 1104.2 1102.1 | 99.5 | 99.1 }101.4 | 100.2
10 {100.9 [102.0 5102.3 5106.7 5102.5 97.8 5100.3 99.4 5102.7 5102.9 5100.7 §1oo.o 5103.1 5102.5 99.5 99. 1 5101.4 100. 4
11 |101.2 [102.5 1103.1 1106.0 1103.8 | 97.8 '107.0 } 97.4 1103.6 $102.3 | 98.5 1100.6 1104.1 1102.5 | 99.5 © 99.1 ! 101.4 ! 102.3
12 |101.3 [103.1 2102.3 5107.3 2102.6 98.7 2109.1 5107.3 2103.7 5103.2 97.6 5100.3 2103.9 5102.5 99.6 99.2 5101.4 100. 9
30/1 |101.7 [105.5 1103.4 1108.8 1102.7 | 98.2 1120.0 !123.7 !104.1 '103.6 $100.0 ! 99.6 '103.9 1102.5 | 99.6 ! 99.2 1101.4 ! 101.1
ES B
g [ B[ 7B F |, [F | 2B R] %] = P z
. |, g | o | mIw s [C] T
- » o | Flom | oy L
a | = x % | R P N
A ¥ = fiif e 1H | | |
i = | M £ . J& T §|7
gl Lol s lwle sl slslx|lols | wle| | |
29/1 | 93.9 91.1 88.9 5107.3 100. 3 99.7 97.2 5102.0 5102.1 99.8 99.6 [101.1 5102.7 §1oo.o 5103.2 93.1 90. 4 99.5
2 | 94.8191.4192.81107.3|98.9 196.2 1 95.3 1101.7 1102.8 | 98.7 1 99.6 [101.0 1101.4 1100.0 1101.7 | 95.2 i 93.0 i 100.3
3 | 96.0191.8192.81107.3 | 98.0 1 94.3 ! 92.4 '101.5 1103.4 | 97.7 | 99.8 |100.4 1102.2 1100.0 1102.6 | 93.8 ! 92.6 | 96.6
4 |on.7 92.2 92.8 5107.3 98.0 92.8 93.7 5102.1 5103.1 99.4 99.8 [103.0 5103.7 97.0 5104.8 101.7 5103.3 97.8
5 [100.2192.6192.41107.3 | 97.5 1 93.1 1 90.0 1102.6 1102.8 | 97.6 ' 99.8 [103.9 1105.1 : 97.0 1106.5 | 102.9 1106.1 | 95.5
6 [100.9 92.7 92.4 5107.3 98.6 98.4 92.4 5102. 2101. 95.6 99.8 |104.0 iws.o 97.0 2106.4 103.7 5106.9 96.2
7 |100.7 92.8 90.8 5107.3 101. 5 5107.2 90.3 5101.2 2102.2 96.9 99.8 |102.5 2103 1 97.0 2104.1 99. 4 5100.4 97.1
8 [100.8 93.0 ! 90.8 !107.3 [100.4 {104.7 | 86.4 1100.8 !102.4 | 96.5 | 9.8 [100.7 !102.8 | 97.0 !103.8 | 94.6 | 93.3 | 97.8
9 [100.9 | 93.1 90.8 5107.3 100. 4 5103.4 88.8 99.5 5102.8 97.7 99.8 |105.3 5105.0 97.0 5106.4 108. 4 5113.5 96. 4
10 |100.8 1 93.1 ! 94.3 1107.3 |100.9 '106.8 | 88.8 ! 99.5 1101.2 ! 96.8 ! 99.8 |105.1 1104.4 | 97.0 1105.7 | 109.1 1113.8 | 98.0
11 |100.4 5103.2 97.8 5107.3 100.7 5107.9 86.8 99.9 5100.6 95.2 99.8 |105.6 5104.5 97.0 5105.9 109. 3 5114.0 98.4
12 1100.2 1 95.3 1 99.8 1107.3 [101.1 1106.9 i 85.8 1104.7 1101.1 : 96.2 1 99.8 |104.1 1104.5 : 97.0 1105.8 | 105.0 1107.7 1 98.4
30/1 |100. 6 95.2 99.8 5107 3 |100. 4 5104.4 84.9 5105.0 2102.1 95.8 99.8 |101.7 2101.3 97.0 2102.1 101. 2 5102.4 98.5




BEWH o EER GBS

20154E=100
e G5 & &
4 & it B = | R e 2 H ] = | FE| M #
i F g | @ # e ¥
mo| g, | B | & : o ® | o
2 % | i £ | B B o
b £ - W z S
) il £
)EJ ¥ E HEJ =] EFD "j_ 3 %‘;_ ﬁ/g\‘ ﬂEJ
% | | . 1 @ 4] B = # ifit
. i) w | v % # 3
il JIR 2 | - A 2 {5 B 2 {5 H %M H 2 B
29/1 |106.7 1106.8 1104.0 |100.5 1 99.9 1 99.7 1101.3 | 98.2 1 98.9 | 98.8 | 96.7 [101.8 1102.9 1100.2 1100.0 |100.9 {101.5
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3 98.2 1112.6 1104.0 |100.6 i 99.0 1101.0 1101.3 | 97.7 1100.5 1 99.5 1 92.6 [101.8 :102.9 1100.9 1100.0 |101.7 {105.2
4 | 99.4 1108.1 1104.0 [100.4 1100.0 ¢ 99.1 1101.3 | 98.2 ¢ 98.8 ! 99.3 ! 95.4 |102.3 1103.7 1101.0 1100.0 |101.4 {105.4
5 | 99.4 !108.1 !104.0 [100.8 }102.1 } 97.9 1101.3 | 98.2 } 99.1 | 99.1 | 95.6 [103.3 !105.2 '101.0 !100.0 [101.7 {103.6
6 99.4 1108.1 1102.9 |100.2 i 99.8 1 98.4 1101.3 | 97.9 1 98.7 1 98.5 1 96.2 [103.3 1105.2 :101.0 :100.0 |100.8 {100.9
7 [102.7 !108.1 }102.9 [100.4 }100.6 ; 98.1 1101.3 | 97.8 }101.9 | 98.0 | 96.2 [103.3 !105.2 !101.0 |100.0 [100.9 | 99.6
8 [101.6 1104.1 1104.0 [102.2 1101.6 | 98.1 1104.3 | 97.7 1103.4 1 98.4 1 94.5 |103.3 1105.2 1101.0 1100.0 [102.3 | 99.6
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29/1 [100.5 }100.7 1101.0 |101.6 }100.9 | 99.2 !110.2 !101.7 !101.4 | 93.9 [102.3 [100.8 | 98.4 110.0 }110.1 }105.7 }116.6
2 [100.5 1100.7 1101.2 [101.0 :100.9 : 97.5 1107.6 1101.7 :101.4 | 95.3 {102.4 [101.1 | 97.8 |107.8 1108.7 1104.7 i111.7
3 [102.1 '100.6 '101.4 [101.7 100.9 1100.5 1108.1 '101.7 '101.4 | 96.2 |102.5 [101.7 | 97.8 [105.3 '108.3 ! 98.4 !112. 4
4 | 99.0 1100.6 1102.3 [101.9 |100.6 :100.4 }107.6 1102.4 1101.9 | 97.0 |102.9 |101.1 | 97.8 [102.5 1110.0 | 96.7 :102.6
5 [100.5 1100.8 1102.2 [101.7 1100.6 1100.2 1106.1 1102.4 1101.9 | 97.7 [103.5 [101.4 | 97.9 [101.4 1106.0 ! 94.9 1106. 1
6 | 99.0 1100.9 $101.7 101.4 1100.6 | 99.1 1105.6 1102.4 1101.9 | 96.9 [103.5 [100.4 | 97.9 | 98.8 1107.3 | 90.6 1101.3
7 | 99.0 1100.9 1101.9 [101.0 :100.6 : 98.6 1102.6 1102.4 :101.9 | 96.1 |{103.5 [100.8 | 97.9 | 97.6 1107.5 | 88.7 I 99.7
8 [100.4 1100.8 1103.7 [101.1 1100.6 | 99.1 102.0 1102.4 {102.0 | 96.8 [103.5 |102.3 | 96.4 [105.4 {110.1 | 94.6 !116.6
9 |100.6 1100.7 1102.2 [100.9 1100.6 i 99.0 1100.0 :102.4 :102.0 | 97.3 |103.5 |101.0 | 96.4 |106.9 1116.0 1103.5 1101.4
10 |100.2 1100.8 1103.0 [101.1 1100.6 ' 98.3 1103.4 1102.8 1102.0 | 98.9 |103.5 |101.6 | 96.4 [101.9 1111.0 ' 97.2 | 98.4
11 |101.7 }101.1 {103.0 [101.2 !100.6 ! 98.9 !102.7 }102.8 ;102.0 [101.0 |103.5 |101.9 | 96.4 [105.0 ;108.7 |107.7 | 96.3
12 |103.7 1101.1 1102.3 [101.6 1100.6 i 98.7 1107.4 1102.8 1102.0 [100.5 |104.6 |102.1 | 96.4 [109.8 1111.0 1110.9 1106.7
30/1 [102.1 :101.3 :101.6 |101.7 :100.6 : 99.1 :107.9 :102.8 :102.0 [100.6 [104.6 [101.2 | 96.2 [122.4 :113.0 :128.5 :123.9




